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This Test-Booklet contains 24 printed pages. Question-Booklet Number
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Your Roll Number / 319kl SAJshHich a
& I_Hm Booklet Series

03 qfsrRT e

Time Limit: 1 hour 30 minutes THg 94 ;1 5T 30 fae

1.

10.

11.

12.

13.

14.

15.

16.

17.

When you take out the OMR Answer-Sheet placed inside the Test-Booklet, ensure that Question-Booklet Number on Test-Booklet and
OMR Answer-Sheet are same, otherwise get them changed. Please do not mark your answers on this Test-Booklet.

Tt % &9 T T OMR IW-UF & a1l e & q9arq 319 a8 giafved s & foe adeo-qfiaat ik OMR
- H Y- i THM €, ST 3H IS GH o1 T | I 38 TX&I01-JReiehT TR 379 I Rl Sifehd &1 e |

This Booklet consists of 100 questions and carries 100 marks. All questions are compulsory and they carry equal marks. There is no
negative marking.

TG I9-YfEreRT | 100 T € q1 100 3fek & | Feft ye SAfamed § qe 3% ik WHH ¥ | THUTIeeh 9ok TEl & |

Each question has four alternatives (A), (B), (C) and (D). Of these four alternative answers, only one is the correct answer for each
question. Use only Blue or Black ball point pen to answer questions.

W e o o =R faehed (4), (B), (C) @R (D) few w8 | 57 =R ferhedi & 9, Wedish 9o 3 foTq Sherel Teh ST HE1 € | Sheted et 37eral
ThTer STl TS U 1 € S S o ferq s <Y |

All answers are to be marked on the OMR Answer-Sheet only. Mark your responses carefully. Any cutting, use of Fluid, Eraser, use of
Blade, etc. are not allowed for changing the answers and treated as wrong answer.

[ff I I hAA OMR ITR-T3k T &l Fafed i | 3T ST hl HALMHIYE died i | ST TG o [T FHle-Te HiAl ad &I, W,
T T SRS 1 START T off e7gafa 7 ¥ 1 afe W@ foran S &, o S e ST | S |

Candidate will not be allowed to take away Question Booklet rather they will submit it to the Invigilator alongwith the OMR
Answer Sheet.

T Tet SRt UT- YR & ST ekl STTHIA &l &, Siosh 39 OMR ST-US |igd (MHtaTeh ohi HaT 2R |

Candidates will be allowed to carry the duplicate/carbon copy of the OMR Answer-Sheet.

TteTeli Rl OMR STIR-UH hi GiTohe /SIS ShiUT STU |TL & ST ah STTHFA & T |

Open your Test-Booklet seal, only when asked to do so. Contravention of this attracts disqualification.

379 SRl U RTUT-TfhT HieT STol Shal ST, el & WIeT & | 36 FE9T ohT Soeia ohi U¥ 3Te2rell oh ST ohil feam T Wehdl & |

You have to fill the boxes and shade the circle for your Roll Number and Booklet Series in the boxes because this information is essential
for evaluation of the Answer-Sheet.

31T 7Y TR 3T Yfedent et o1 27a9a WY 3R 3 1 el L, Fifh I8 SRR STW-T3 & Yedih & [T STavah ¢ |
Completely darken the CIRCLE so that the letter/number inside the CIRCLE is not visible.

T I TH TG HTel 1 ok g9 B foran ter/ =R e 731

Darken only ONE CIRCLE for each answer as shown in the example below. If you darken more than one CIRCLE, your answer will be
treated as wrong.

I 3T H T STTHR, Fedeh U o ToTl Shafet ek & I ohl hictl i | Teh § 3114k I ohl hietl i TR STTUhT ST TTerd HHT ST |
WrongMethod/WﬁﬁI: @ .) @ CorrectMethod/F@'ﬁﬁI: . @

Signature of Invigilator will be done after all the entries are made by the candidate.
wRaere wianell g 78 Wit wfaftesi % swr & ewme |

Before beginning to answer the questions please make sure that all the entries in your Answer-Sheet have been duly completed. Any
carelessness in this regard may jeopardize your chances of selection.

eI % W I T T8el YA R A o 30 Sw-gs § weft wfaftest fEemgar S yor R S €1 3 ot Yohr i aroRamel 9
TR T T ST O el B |

Do not spend time on reading all the questions before beginning to answer them. Try answering the questions one by one and
wherever you are not sure of the answer, pass on to the next question. Time permitting, you may again tray the left out questions
after completing the whole test.

I AT AT HH © Y G YIT-U UG BT WATH 7 SR | TR U9 SR 37X 31T WX STTEAT Y9 i | O Y9-UF il o
g THT & UF 37 P §U U9 YA: Y ehel £ |

Do not talk to or consult with other candidates. This will lead to disqualification.

T ard e faem-famst T | ST=rem ueht SEteaTl TuTe e &f STe |

Do not carry any electronic gadgets or cell phone during the test. Possession of any such equipment or cell phone will lead to disqualification
of the candidate from the examination.

TReT o SR feRslt off TohR skt SeiaifTeR TIfSTe (gadgets) SToTaT TeT I o SIHT 01 © | Ut TSRt oft WohR ol W18 (equipment) 31era T
T I @A W IFIGAR &1 T SR feam e |

Use of unfair means during the examination will lead to disqualification of the candidate.
e & A SAfd TEF 1 TART T TR STHIGIR i 37817 IR e S |

In case of variation of any kind in the English and Hindi version of any question(s), the English version will be considered as final.

forddt oft w7 (TwHl) o TS ud fewsl g B fordt oft JohR o1 37 21 W STiSTt g ol foTiereh T S |
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[2]
Who became the first Indian to win gold in the Gymnastics World Challenge Cup 2018 ?
(A) Rita Chowdhuri (B) Hima Das
(C) Sunaina Malik (D) Dipa Karmakar

~

SR e Jei=st &9 2018 H U] Ygeh Siidd dTell 9gell YA hid § ?
(A) S e (B) @™
(C) g Afeish (D) <1 SHHfRT

4,9,19,39, 2

(A) 49 (B) 79 (C) 89 (D) 59

Which Veda is associated with music ?

(A) Yajur Veda (B) Sama Veda (C) Rig Veda (D) Atharva Veda
Hrftd | I 98 Helg 8 2
(A) TSR (B) ¥M I (C) Fa] (D) 3o 3T

Identify the figure that completes the pattern.
GITHH ! QU L dd Fo 1 989 Hifaw |

Choose the pair in which the words are differently related from the rest :
(A) Broom : Sweep (B) Spoon : Feed
(C) Nut : Crack (D) Soap : Bathe

39 SIS 1 = Hifee e v w1 Hey s A fy= 7
(A) g TBRAT (B) == : fger
(C) TiRR %l : wieT (D) IS : &
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10.

11.

2

After walking 6 km, I turned to the right and then walked 2 km. After then I turned to the
left and walked 10 km. In the end, I was moving towards the North. From which direction
did I start my journey ?

(A) North (B) South (C) East (D) West
6 o, 1. =rer o o & <3 Yot € ofR 2 for . =reran € ofR fom # o geas 10 .. =o€ 1 ofa
T H S H 3R Teran 1 HA 1ot amn fore fawn 9 oy &6y oft ?

(A) W (B) <& (C) T (D) uf¥=m

If A and B are both multiples of 2 and 3 and their sum is 78, their values are :

Ifg A e B S 2 3R 3 % IO 2 a1 3T AT 78 7 Al 3Tk HE B
(A) A=36,B=62 (B) A=12,B=66 (C) A=10,B=68 (D) A=26, B=62

9,18,36,72, 2

(A) 144 (B) 148 (C) 156 (D) 164

If South-East becomes North, North-East becomes West and so on. What will West
become ?

(A) North-East (B) North-West (C) South-East (D) South-West

Ifg <feu-vd, W & 9=, STH-Td, Ie=T T 36 /e A ot foafaen IRk ® @ e Fn a
SR ?

(A) IW-T (B) W-ufv=d (C) =g (D) =feror-ufe=m

Every citizen not less than 18 years of age has the right to vote. What is this attribute
called ?

(A) Free and fair election (B) Adulthood

(C) Universal Adult Franchise (D) None of the above

18 9 ¥ TR Y 3T AT Iceh AT hl HASH i 1 SR &1 7 Fo€Ioan =l =11 el e € 2
(A) wdd iR frone g (B) aIEHAI

(C) wrEifteh TR AAIHHR (D) S H &5 of T

Name the Capital city of Chhattisgarh.

(A) Ranchi (B) Patna (C) Raipur (D) Indore
BTG T AT T 1 §
(a) (B) (€ TR (D) F=W
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[4]

In a mini bus, 6 seats are vacant. In how many ways can 3 people sit on them ?

fordl Tieit o9 § 6 €S @relt ©1 3 safed 39 €iel W fohas adienl 9 o8 Tehd © 2
(A) 100 (B) 110 (C) 120 (D) 130

A milkman purchases the milk at ¥ x per litre and sells it at I 2x per litre still he mixes
2 litres of water with every 6 litres of pure milk. What is the profit percentage ?

IS gHATE 3 x Ufd fefeX i X | o Tiedr ® qen? 2x ufd fae it R W= €1 i off ag g
39 % Ufd 6 feaex # 2 forex it sreran ©1 3Wemt @y gferd feRan €2

(A) 116% (B) 160% (C) 166.66% (D) 170%

Azim Premji won Forbes India Leadership Awards 2018. He was the Chairman of :

(A) Infosys (B) Google India (C) Wipro (D) TCS
TSI YISt 1 Wey gfean Tetf¥ R 2018 Sfarl 3 fords == 97?
(A) THITEH (B) OIS Sfea (C) o (D) FrETE.

Which of the following states does not have elections coming up ?

(A) Rajasthan (B) Gujarat (C) Telangana (D) Mizoram
e & | form T ® g9 & Staren € 2
(A) TSEYH (B) TSN (C) dem (D) THSIEA

Select a suitable figure from the Answer Figures that would replace the question mark (?).
I fox 9 Tk 3uge fost e s A fome (?) 0l wfawenfud sam
Problem Figures / U9 for : Answer Figures / 3% for

PEAR |dv3a(sTOP| q01»(dQL»|AQTer|dQLeo|AQTew

Choose the word which is different from the rest :

(A) Blade (B) Axe (C) Scissors (D) Needle
3 TR I TIA HITC & 57 6 =1 ©
(8) =t (B) FE (© = (D)
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19.

20.
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5

Here two positions of dice are shown. If there are two dots in the bottom, then how many
dots will be on the top ?

7l U i < fefoal guiet wht ¥ af 9o § < foeg & @ 39k SR H forar fargd i 2

(A) 2 (B) 3 © 5 (D) 6

A father said to his son, “I was as old as you are at the present at the time of your birth”. If
the father’s age is 38 years now, what was the son’s age five years back ?

aT = o797 O | el TR ST o I H 3t 2 3Ty T ot Fa g s g w1 afe fa
I SR 271 38 T B Al Ui o e Y i Mg 7 o ?

(A) 14 (B) 15 ) 16 (D) 17

Land between rivers is known as :

(A) Interstice (B) Water gap

(C) Doab (D) None of the above
Afeei % weA arelt i 1 F el W ?

(A) ST (B) TR

(C) <=TE (D) 39l H g i T

Complete the series :

o7t <Al qoi HIfIT -
AENSW, 7.
A) Z (B) A (©) B (D) C

Who among the following was a poet and minister in the court of Samudragupta ?

(A) Tansen (B) Harisena (C) Tulsidas (D) Banabhatta
frfafed 9 =M, T8 % @R Hfq IR =15+ o1?
(A) e (B) ®IEA (C) qadie™ (D) @mTTE
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[6]
What is the Golden Globe Race ?
(A) Sail around the globe (B) Film Awards
(C) Photography Competition (D) None of the above
RISSRRCIERTCS K
(A) T % R SR & AR (B) fFeH qT&RR
(C) THERIH Tl (D) SHi= H =5 o &
Indian Constitution Day is celebrated on :
(A) January 26 (B) November 26 (C) August 15 (D) May 19
IR Gforem feag et T S © 2
(A) eI 26 (B) IR 26 (C) 37T 15 (D) ©E 19

Which of the following is a network of devices such as smart phones, wearable devices,
home appliances and vehicles, connected to the internet, which enables these to connect and
exchange data ?

(A) Social media (B) Blockchain
(©) Internet of Things (D) None of the above

T=UE § THfha WREH, T feamsa™, SW STl o Rfhed SIE STHUN ! Sedl § ad
erer fafa & ek a8, 7 § TH -9 Jeas feard 72

(A) g fafean (B) =l =

(C) T=TR 3w foirg (D) SH= H =5 o &

Arrange according to the dictionary :

YChIY & YR T FaId I :

a) Counter (b) Crop (c) Create (d) Carnation (e) Creator
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Who was awarded the Nikkei Asia Prize 2018 for culture and community ?

(A) Sonam Wangchuk (B) ISRO

(C€) SAARC (D) Dr. Bindeshwar Pathak
T&hid T8 9EE & faq fent T R 2018 fohe foam man?

(A) T AT (B) T

(C) Wk (D) . foideer 9ok

Latest Sarkari Jobs, Govt Exam Results,
. . Know More
Vacancies and updates on one click




28.

29.

30.

31.

m
Select a suitable figure from the Answer Figures that would replace the question mark (?).
I o 9 Ttk 3uge fost gie s uea fome (?) ot wfaeufd s |

Problem Figures / U9 for : Answer Figures / 3% for :

ADOI@[DOA 9 A Zélléﬁ® Q

A @ B) (2 © G D) @

A dice is thrown four times and its four different positions are shown below. Find the number
on the face opposite the face showing 2.

fordt I8 Rl IR S ekt TN IR 39k R Tys- et Teafaai sl = <ian e €1 2 <9i™ el wetsh
& fauia Tetsh W 9& F1d Shifeg |

(i) (iii) (iv)
(A) 3 (B) 4 C) 5 (D) 6

Which of the following is not a property of metals ?

(A) Malleable (B) Hard (C) Ductile (D) Brittle
TTH 9 I | 4T T T T[0T TE ¢ 2
(A) AT e (B) IRl (©) = (D) SR

What is the full form of FAO ?

(A) Food and Agriculture Organisation
(B) Farmers’ Agricultural Operations
(C) Farmer Amelioration Organisation
(D) None of the above

FAO 1 Ui &9 311 § 2

(A) € T Tithew ARSI
(B) TRIRY WiehooRal STy
(C) TR TATASTREE SRS
(D) ST H e ot &
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32.

33.

34.

35.

36.

37.

[8]
Where is Sabarimala temple, often in news, located ?
(A) Tamil Nadu (B) Kerala (C) Jharkhand (D) Meghalaya
TT: FHERI H ST HemTe e el feerd ¥ 7
(A) dferrg (B) A € wnEe (D) HeeTd

Pointing to a woman, Abhijit said, “Her grand-daughter is the only daughter of my brother.”
How is the woman related to Abhijit ?

(A) Sister (B) Grandmother (C) Mother-in-law (D) Mother

Teh Afeall S SR SR i gL ATTSHA 7 hel, * ITeh! Ui, B WIS &l THAR T g 1" 39 Afeat 1
fsia & 9o Faiy §?

(A) &= (B) I (©) ¥ (D)

Thang-ta is a martial art form belonging to :

(A) Manipur (B) West Bengal (C) Meghalaya (D) Chhattisgarh
o] Ueh Ut hell & Foraeht Geier ¢
(A) HfUTgR (B) WiEM SME  (C) HeMeHE (D) BEETE

If the ratio of radii of Circle 1 and Circle 2 is 2 : 3, what is the ratio of their areas ?
I g9 1 a1 g 2 & st o1 e1gard 2: 3 21, A 37 1 o &bl ohl STITd R 81T 2
(A) 2:3 (B) 3:5 < 1:2 (D) 4:9

Why was the Dandi March carried out ?

(A) To break the salt law (B) To protest arrests
(C) To stop payment of taxes (D) None of the above
HEERICEIERUE IR P

(A) T9 A dreA (B) TRwar =1 fatig e
(C) U 1 YTAH s R (D) WK hrg ot &

Where was the FIFA World Cup 2018 held ?

(A) France (B) Russia (C) England (D) Australia
I ITE %Y 2018 T TS el g o172
(A) wiH (B) &4 (C) zwis (D) sieferan
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38.

39.

40.

41.

42.

43.

0
Wildlife Protection Act was implemented in :

o IO GI&T0T SAYTIH T g o
(A) 1972 (B) 1980 (C) 1995 (D) 1960

A car running at 65 km/h takes one hour to cover a distance. If the speed is reduced by
15 km/hour then in how much time it will cover the distance ?

(A) 72 mins (B) 76 mins (C) 78 mins (D) 80 mins
65 T Y. /¥ie1 &1 X § TEHE #E FR Th 5 H Th gt T FCl &1 ARG 3 HR &1 A
15 for.wfl. /=i 9 H 3 S @1 I8 3 & g 9 A H ford w9 it 2

(A) 72 fae (B) 76 fae (C) 78 fae (D) 80 fAe

In final exam of class IX there are 50 students, in which 10% students failed. How many
students passed to class X ?

ot IX & 3ifam aden § 50 B & s 10% o5 %l &l S &1 o X § S el o6 S §en
(A) 40 (B) 45 (C) 47 (D) 48

Where is the SAARC headquartered ?

(A) Islamabad, Pakistan (B) Thimphu, Bhutan
(C) Kathmandu, Nepal (D) Colombo, Sri Lanka
qreh 1 JE&ATeTd el e § 2

(A) TEIMIETE, iR (B) oy, qem

(C) hISHIg, U (D) hicTell, ARl

Who is the only person to have served as the President of India twice ?

(A) A.P]J. Abdul Kalam (B) S. Radhakrishnan
(C) Dr. Rajendra Prasad (D) Pranab Mukherjee
o ek A SAfeRt Forein &1 o Tegafd ue e oA ¢

(A) TR Tga wHa™ (B) TH. THFWIH

(C) I USi= JHg (D) HUE @St

Find the HCF of 59, 6.
59, 6 1 HETH GHTIEh A1 ShifoTd |
(A) 354 (B) 2 (C) 24 (D) 1
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10

44. Which of the following was an ancient ritual performed by kings involving a horse ?

(A) Yajna (B) Rajagriha

(C) Ashvamedha (D) None of the above

1 § @ 1 W g S o fred = 1 enfier S g ST 99 HE SR o 2
(A4) = (B) TSITE

(C) 3TeaHY (D) WK H IS off Tl

45. Agency looking after cyber security in India :

(A) Cyber Offence Squad (B) Cyber Sopranos
(C) Digital Forensic Lab (D) CERT-In

IR o FZeR Y& § Heiferd Uorlt &

(A) HER AhY e (B) HEsR €Ml

(C) fefsea wiifaes oa (D) -7 (CERT-In)

46. Choose the figure which is different from the rest.
39 fot =1 9T S o= fomt 9 fe 7

K- 28

47. Dudhwa Tiger Reserve is in :

(A) Bihar (B) Jharkhand

(C) Uttar Pradesh (D) Madhya Pradesh
T T 3T o9 el © 2

(A) foer (B) wNEE

(©) WU (D) WeA W™

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




48.

49.

50.

51.

52.

53.

1)

In a row of boys, if A who is 10t from the left and B who is 9! from the right interchange
their positions, A becomes 15" from the left. How many boys are there in the row ?

TSHI H U Ulad B A U & 99 ¥ 109 WA W J1 B Ui % ¥ 9 9d A W ¥ Al
STYAT-STTAT T TER 9Serd &, 1 A 719 § 159 WM W a1 § 1 Ui | fohe oie €2

(A) 23 (B) 31 Q) 27 (D) 28

What is essential to swimming ?

(A) pool (B) bathing suit (C) water (D) life jacket
THHT % fag = sifer 22
(A) 9@ (B) =T e (C) <& (D) ST & Sehe

Which of the following is not mentioned in the Preamble ?

(A) Republic (B) Democratic (C) Secular (D) Independent
e o 9 forgeht Soore wede § FE et €2

(A) TR (B) Wrhas (C) wHfue (D) s

The famous Toy Train starts from and ends at New Jalpaiguri.

(A) Darjeeling (B) Silliguri (C) Kolkata (D) Bagdogra
g 2 o7 forgent amn Y 3RY A § q 7 TS H T art §

(A) St (B) Toere! (C) RIcThIaT (D) SR

Which of the following is associated with Hindustani music ?

(A) Dhrupad (B) Khayal (C) Thumri (D) All of the above
Fret % 0 fergearl T @ g 2
(A) 49 (B) © © g (D) ST @t

Name Russia’s space agency.

(A) JAXA (B) ROSCOSMOS (C) ESA (D) CNSA
&G o Aqe] Tei=dl ol A1 FqET |
(A) ST (B) eI Q) @ (D) WTATET,
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54. Who formed the Khudai Khidmatgars ?

(A) Mahatma Gandhi (B) Subhash Chandra Bose
(C) Khan Abdul Gaffar Khan (D) Bhagat Singh

Ter faguar 1 fmior frem fhan?

(A) e T (B) W == &9

(C) T SFeged TFRR WM (D) wa fHg

55. Eri, Tussar and Muga are types of :
(A) Cotton (B) Silk (C) Wool (D) Thread
T, TEHR AT I H YR BT S :

(A) U™ (B) WM Q) A (D) =mm

56. Which metal foil is used to wrap food items ?

(A) Silicon (B) Aluminium (€) Iron (D) Steel
g o1g o 9 @ el w1 e S § 2
(A) Taferent (B) et (C) dr (D)

57. Who is the only Indian to have been awarded the United Nations Human Rights Prize ?
(A) Baba Amte (B) Mahatma Gandhi

(C) Anna Hazare (D) None of the above
T I Th T IRAT & T8 G g TR JREhR 9T g7 § 2
(A) e S (B)  HeTeH et

(C) TN (D) SUgH g ot TE
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13

RAIN : DRIZZLE

(A)  swim : dive (B) hop : shuffle
(C) juggle : bounce (D) run:jog

Y : Srefia] B

(A) T T @ (B) THcehI : FEfte-=TA
(C) R T : IDT (D) e Hiet <rg

Which of the following is not a directive principle of state policy ?
(A) Promoting space research (B) Free legal aid

(C)  Uniform civil code (D) Promotion of co-operative societies
e & SiF a1 T S Hifa fderen fagia - § 2

(A) SAaRe STTHYE I Yr=d hTAl (B) H ShIl FRIEA

(C) THM 3T=R Hfear (D) EER[ HEql 1 e

The average monthly income of A and B is ¥ 1010 and the average monthly expenditure is
% 450. Find their average savings.

A T B h1 3Tred /ifer 313 T 1010 © e 3ired Jfes 993450 ® 1 S7eh1 3119 sr=d J1d shifeid |
(A) Z 650 (B) %560 (C) %550 (D) % 500

What is the minimum number of different colours required to paint the given figure such
that no two adjacent regions have the same colour ?

feu e fom ol T B - T 6t =an den 39 YR 9 Sifse fw fost 6 ere 1 &
T T & 1 9 7 foren e
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63.

64.

65.

[14]
carpenter saw nails
pediatrician |stethoscope ?
(A) thermometer (B) baby (C) doctor (D) illness
EES] AN e
AT Tefehedeh | LUAEh ?
(A) FEHIER (B) Ty (C) X (D) ®Tordl

Find out the alternative figure which contains figure (X) as its part.

39 fasheq o= 1 3 wifere fred fot (X) & 9§95 95 < ©

B N\

a) @ B) (2 © G D) @

Which of the following is the most famous Ashokan stupa ?

(A) Sarnath (B) Sanchi (C) Vaishali (D) Rajgriha
frefefaa # @ s a1 gaifus gfag o &y €72
(A) HRAH (B) wi=h (C) et (D) TSE

Find the number of triangles in the given figure :

feu o o= # oSl &0t S 9 ST
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67.

68.

69.
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Choose the picture that would go in the empty box so that the two bottom pictures are
related in the same way as the top two are related.

39 o3 1 =7 HIfSTT S @redt st | S aifer fe1 < fosii o Seie St aan & 2 5 fo sqeh
T el fosil 6 71

@ &

2 -

D Y oo >
“m oo e

a) ) B) 2 © 0 D) ¢

Who won the Women'’s Singles title at the Wimbledon Open 2018 ?

(A) Ana Ivanovic (B) Angelique Kerber
(C) Serena Williams (D) Maria Sharapova
foraree 379 2018 1 Afgen Tehel Fade foram St ?

(A) ST ZaHIR (B) TIfeieh iR

(C) & faferaed (D) IR ST

Ease of Doing Business Index is published by :

(A) IMF (B) World Bank (©) UNESCO (D) ECOSOC
T 3T g7 ToIod $So o1 TehTeH i Hidl © 2

(A) STETATS. (B) oIS dh (C) Fie=h (D) IElH
Under which Mughal ruler did painting reach its peak ?

(A) Shahjahan (B) Babur (C) Jahangir (D) Aurangzeb
fhe T7Tel ITeh o 3fcta femehen o109 foer W ug=n?

(A) &SRl (B) R (C) SRR D BELUEE!
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70.

71.

72.

73.

[16]

Which of the following Venn diagram correctly illustrates the relationship among the
classes : Carrot, Food, Vegetables

frefafad § & e a9 f9 TR, @re, et & 7L 9et Talel ol g © ¢

Identify the figure that completes the pattern.
YfHM 1 U & arel Tost Sl gg=n |

If a probability of finding a red ball in a sack of balls is 1/9, then if there are 45 total balls,
how many of them are not red ?

73 0t T It § W T oA 1€ Fehter 6t Wifaehar 1/9 €1 afE ot § et 45 7S &1, @ 37 | fohat
S e 41t T ¥ ?
(A) 35 (B) 40 (C) 42 (D) 43

A is B’s sister. C is B’s mother. D is C’s father. E is D’s mother. Then, how is A
related to D ?

(A) Grandfather (B) Grandmother (C) Daughter (D) Granddaughter
ABHI TRl CBHI W el D,CH LI E, DF A@I | A A fFd ¥R D § Haifea 22
(A) I (B) © T (D)
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75.

76.

77.

78.
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What was the capital of the Vijayanagara Empire ?

(A) Belur (B) Mysore (©) Tanjore (D) Hampi
foSTaTTR |9 T TS S off 2

(8) TR (B) (©) R (D) F= i
Recently, “Gaja” Cyclone hit the state of :

(A) Karnataka (B) Gujarat (C) Odisha (D) Tamil Nadu
BT & H T =sherd | fohd T H ren et ?

(A) FleH (B) TS (C) sifemm (D) dfHerTg
Complete the series :

ot 9 KT

173, 152, 131, 110, .

(A) 88 (B) 87 <G 9 (D) 89

Complete the series :
Volleyball, Hockey, Football, .
(A) Aquatics (B) Baseball (C) Athletes (D) Sports

ot g hIfSI :
(A) THfeH (B) S (C) U™ (D) Y

Select a suitable figure from the four alternatives that would complete the figure matrix.

=1 =R fosredl @ e 3faa st o1 = ST s fost 378 6l qu s |

A\
QAXK
/

S

~

Aa) ) B) (2 © 0 D) (¢
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80.

81.

82.

[18]

Arrange the following in a logical order :

(a) Shoulder (b) Wrist () Elbow (d) Palm (e) Finger
(A)  (®), (d), (e), (o), (a)

(B)  (0) (a), (d), (b), (e)

Q) (0), (d), (e), (b), (a)

(D) (e), (d), (b), (0), (a)

17 1 difcheh ShH H SHATd HITT

a) @l (b) S (c) hIEt (d) B (e) e
, (©),
(b),

Y

(b), (@)
©), (@) (d) b), (¢)
Q) (©) (), (e) (b), (a)
D) (e), (d), (b), (¢), (a)

There are 20,000 people living in Vaishali Nagar and C-Scheme. Out of them 9,000 people
subscribe to Samachar Patrika, 12,000 subscribe to Bharat Patrika. If 4,000 subscribe to both,
how many people do no subscribe to any of the two ?

el TR L1 C-Thi| H 20,000 T Wd &1 ITH D 9,000 T FHER 9AHT, 12,000 ST ARG
TSRt 1 STTHIGH Had €1 af€ 4,000 AT ST afmisti o1 STTHEH S, @1 fove < fepedt off ufsem
1 STIHGA T8l HLd § 7

(A) 3,000 (B) 2,000 (C) 1,000 (D) 4,000

Complete the series :

ot g TSI :

o alAaGIe@AIA -
R &6 8 8

A @ B) (2 © G D) @

The rhythmic rise and fall of ocean water twice a day is called :

(A) Tide (B) Current

(C) Wave (D) None of the above
Tl < 1 e H < IR i) Sc 9T U sheelid §

(A) R (B) #m

(C) @ (D) W § &5 o T
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84.

85.

86.

87.
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The average of 4 numbers is 20. If A and B are added to the sum of these numbers, the
average becomes 30. Find A +B.

4 e 1 Sfd 20 ¥ 1 A 37 GEemsti % AnThe § A 91 B B Sliel < §, 1 3fad 30 B B
A+ B @ HifSC |

(A) 50 (B) 100 (C) 150 (D) 160

Who was awarded the Saraswati Samman 2018 ?

(A) Kiran Desai (B) Veerappa Moily
(C) Sitanshu Yashaschandra (D) None of the above
! T 2018 9 foheen] weTtTa foram 7o ?

(A) oo <o (B) oo Hreedt

(C) iy IeE== (D) ST H &g off &

What is another name for Lesser Himalayas ?

(A) Shiwalik (B) Himachal

(C) Dun (D) None of the above
A TEHTeT <l 37 T SR |

(A) ferarfes (B) Temra

Q (D) W= § &5 of T

Who among the following was NOT nominated to the Rajya Sabha in 2018 ?

(A) Gulzar (B) Sonal Mansingh
(C) Ram Shakal (D) Rakesh Sinha
a9 2018 § 11 H § Tehwen! Toar@l o foTq HAa =& e T 2
(A) TSR (B) HITel HHIEE

(C) T\ wHA (D) T o=

Hot : Oven : : Cold : ?
(A) Ice-cream (B) Iron (€) Snow (D) Refrigerator

TRH : ol 22 B¢ ?
(A) STEHHMA (B) <@l (C) % (D) IR

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




20

88. Name the natural habitat of the Asiatic lion in India.

(A) Namdapha (B) Gir Forest (C) Silent Valley (D) Panna
aRa § Ty TER o wepfaeh STere- T el § 2
(A) THI® (B) fR=A (C) wid =t (D) T

89. (NG stands for :

(A) Compressed Natural Gas (B) Cooling and Numbing Gas
(C) Cold and Natural Gas (D) None of the above

CNG 1 fa&R &9 T :

(A) HEEE TI@ ™ (B) Hfeim dg Afeim

(C) wIee Ue T 19 (D) UK H g i T

90. ‘Satyameva Jayate’ has been taken from the :

(A) Mundaka Upanishad (B) Rig Veda

(C) Ashokan Inscriptions (D) None of the above
"erE s el 4 fern

(A) He® SuTIg (B) FoE

(C) e fireter@ (D) SHIsK H HIE TEl

91. What is the perimeter of a rectangle whose length is 13 m and area is 286 sq. metres ?

TS 13 HY. 99T % 286 9T . AT 3T k1 AT fehd=m g ?
(A) 72 (B) 73 (C) 70 (D) 71

92.  Which of the following is not commonly found in tropical rainforests ?

(A) Snake (B) Lion (C©) Monkey (D) Frog
IWhfeay g9l o § f79 § 9 i |1 9= T8 (i § 2
(A) g (B) fo ©) == (D) Heh
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95.

96.
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Which of the following is an ancient institute of learning ?

(A) Dharmarakshita (B) Nagarjunakonda
(C) Puri (D) Taxila

T 9 D 1 o T T W TR €2

(A)  eRfaFT (B) TSIt

© T (D) wafen

Chikankari belongs to :
(A) Punjab (B) Delhi (©) Uttar Pradesh (D) Gujarat

et Tore T 9 Heifid 82

(A) dSTE (B) feoett (C) I U= (D) TR

‘Table’ is related to “Wood’ in the same way as ‘Shirt’ is related to :

(A) Cotton (B) Cloth (C) Dress (D) Uniform
‘T’ 1 ST Hel (e’ | T oW @ Hee TR A SR
(A) HE (B) 9t © 3w (D) feRT

Choose the correct mirror image of the given figure (X) from amongst the four alternatives.

e ma fot (X) % =t 4o wfafora @1 f1 =R faeedl @ g

o) x X o o

x O\ (@] X X

| peeles e S
X) 1) () 3) 4)

A) @) (B) (2 © 3 (D) @)

How many body diagonals does a cube have ?

Tk o9 | T forerol 810 €2
(A) 4 B) 5 © 6 (D) 8
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98.

99.

100.

[22]

Choose a figure which would most closely resemble the unfolded form of Figure Z.

39 o1 o1 5o HIT S Z & got Fo & gaifus 9 2|

ORCES>
#%@@

(A) (1) (B) (2) (C) ®) D) ¢

e

In 10 years, A will be twice as old as B was 10 years ago. If A is now 9 years older than B,
then the present age of B is :

10 98t # , 10 I G B 1 TSIt o7 off A i 11 399 IAq0 & SIRAfT | afe A &t a9 o71g B9
999 eIfereh &, @ B HI IAHM T F T ?

(A) 39 (B) 29 (©) 19 (D) 9

Which of the following is a medicinal plant ?

(A) Eucalyptus (B) Hibiscus (C) Mustard (D) Tulsi

=1 ® =hiF @ sfiedig aeT 72

(A) IhiTd (B) fefereeny (C) #=E (D) qerEt
-00o0-
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